
                           
 

GRADE11 

 

I. Vocabulary (20 Marks) 

Choose from a, b, c and d to complete the following sentences: 

(4x5=20)  

1- The president gave a radio ............................to mark the 

     end of the war.  

a- prosecution                   b- cityscape                     

         c- broadcast                     d- deterrent    

2-  Her ……………exam results are entirely due to her inattention in class. 

    a- transatlantic                b- disappointing             

    c- potential                      d- zealous     

3- The prime minister’s speech …………… a storm of protests among the    

     angry citizens. 

         a- ranked                      b- convicted              

         c- tuned out                  d- provoked     

4- He was disappointed at not getting the job, but he'll …………….. it.     

    a- get on                        b- get over                 

    c- get up                        d- get behind with  

 

 

 

 

 

 



II. Grammar (20 Marks) 

Do as shown between brackets: (4 X 5= 20)    

5- This is the doctor. He helped Sara recover from her illness. 

                                                                                  (Join using: who)                                     

a. Who this is the doctor helped Sara recover from her illness.           

b. This is the doctor helped Sara who recover from her illness.            

c. This is the doctor who helped Sara recover from her illness. 

                                                                                                  

6-  “Don’t block the entrance.”                              ( Report the statement)                                                                                

a. The security officer told me not to block the entrance.    

b. The security officer told me to not block the entrance.      

c. The security officer told me to block the entrance.                                               

7- Thomas Edison invented the electric light bulb.     ( Make passive )                                                                                                                

a. The light bulb is invented by Thomas Edison. 

b. The light bulb has been invented by Thomas Edison.   

c. The light bulb was invented by Thomas Edison.                                                                                           

8-  The car was stolen last month. It was found in a river.   

                                                                                 (Join using: which)                                                                                                                    

a. The car which was stolen last month was found in a river.   

b. The car was stolen last month which it was found in a river.   

c. The car was stolen last month was found in which a river.   

 

 

 

 

 

 

 



III. Writing (40 Marks) 

 

Plan and write a short argumentative paragraph of 6 sentences 

discussing arguments for and against  social media.  

Write your outline (5 Marks) 

Introductory sentence:  

 

 

Supporting details: 

 

 

 

 

 

Concluding sentence: 

 

 

Write your topic here (35 Marks) 

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………………………………
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